
RW
1

Dachfläche 1.2
170 m², c = 1,0
Qr5,2 = 3,97 l/s
Qr5,5 = 5,38 l/s
Qr5,100 = 9,63 l/s
QNot = 4,25 l/s

Regenwasser
Kontrollschacht R1
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Dachfläche 2.2
48 m², c = 1,0
Qr5,2 = 1,12 l/s
Qr5,5 = 1,52 l/s
Qr5,100 = 2,72 l/s
QNot = 1,20 l/s

RW
3

Rampenfläche 4.1
12 m², c = 1,0
Qr5,2 = 0,28 l/s

DN 100
Gefälle = 2 %
RW5,2 = 0,28 l/s

DN 100
Gefälle = 2 %
RW5,2 = 6,51 l/s

Regenwasser
Kontrollschacht R2

Dachfläche 2.1
40 m², c = 1,0
Qr5,2 = 0,93 l/s
Qr5,5 = 1,27 l/s
Qr5,100 = 2,27 l/s
QNot = 1,00 l/s

RW
4

Mischwasser
Übergabeschacht DN1000

Dachfläche 3
112 m², c = 1,0
Qr5,2 = 2,61 l/s
Qr5,5 = 3,55 l/s
Qr5,100 = 6,35 l/s
QNot = 2,80 l/s

RW
5

Regenwasser
Kontrollschacht R3

Zuwegung
17,50 m², c = 0,7
Qr5,2 = 0,29 l/s

DN 100
Gefälle = 2 %
RW5,2 = 0.29 l/s

Dachfläche 1.1
170 m², c = 1,0
Qr5,2 = 3,97 l/s
Qr5,5 = 5,38 l/s
Qr5,100 = 9,63 l/s
QNot = 4,25 l/s

RW
2

DN 100
Gefälle = 2 %
RW = 1,29 l/s

DN 100
Gefälle = 2 %
RW5,5 =1.27 l/s
RW5,2 = 0,93 l/s

DN 100
Gefälle = 2 %
RW5,5 = 1.52 l/s
RW5,2 = 1,12 l/s

DN 100
Gefälle = 2 %
RW5,2 = 2,90 l/s

DN 150
Gefälle = 2 %
RW5,2 = 6,87 l/s
Qp = 4,42 l/s
Qtot = 11,29 l/s

DN 150
Gefälle = 2 %
RW5,5 = 5,38 l/s
RW5,2 = 3,97 l/s
Qp = 4,42 l/s
Qtot = 9,80 l/s

Zuwegung und Parkfläche
87 m², c = 0,7
Qr5,2 = 1,42 l/s

DN 100
Gefälle = 2 %
RW5,2 = 1,42 l/s

DN 100
Gefälle = 2 %
RW5,2 = 5,39 l/s

DN 100
Gefälle = 2 %
RW5,5 = 3.55 l/s
RW5,2 = 2,61 l/s

DN 100
Gefälle = 2 %
RW5,2 = 2,61 l/s

DN 100
Gefälle = 2 %
RW5,5 = 5,38 l/s
RW5,2 = 3,97 l/s

DN 100
Gefälle = 2 %
RW5,2 = 3,97 l/s

Rückstauebene = 141,10 Rückstauebene = 141,10

RW-Doppelpumpen-Hebeanlage 

Rinne TG 
(überdacht)Rinne TG

DN100
1% Gefälle

DN100
1% Gefälle

DN100
1% Gefälle
Qtot = 2,46 l/s

Lichtschacht
0,70 m²
Qr5,100 = 0,04 l/s

Lichtschacht
0,70 m²
Qr5,100 = 0,04 l/s

Qp = 4,42 l/s
Druck Ltg. DN50

DN125

Parkplatz 
50 m², c = 0,7
Qr5,2 = 0,82 l/s

Regenwasser
Drosselschacht
Qdr = 1,29 l/s

Entlüftung Hebeanlage SW

Regenwasserrückhaltung 12,9m³DN 100
Gefälle = 2 %
RW5,2 = 6,79 l/s

DN 125
Gefälle = 2 %
RW5,2 = 7,72 l/s

DN 125
Gefälle = 2 %
RW5,2 = 7,72 l/s

± 0,00m = +141,43
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DN 125
1% Gefälle
∑ DU =  57,1
Qww = 3,78 l/s

DN 100
1% Gefälle
∑ DU =  13,2
Qww = 2,00 l/s

DN 75
1% Gefälle
∑ DU =  1,5
Qww = 0,61 l/s

DN 75
1% Gefälle
∑ DU =  6,4
Qww = 1,26 l/s

DN 100
1% Gefälle
∑ DU =  19,6
Qww = 2,21 l/s

DN 100
1% Gefälle
∑ DU =  21,1
Qww = 2,30 l/s

SW
1

SW
2

SW
5

SW
3

SW
4

SW
8

SW
6

SW
7

SW
9

DN 125
2% Gefälle
∑ DU =  57,1
Qww = 3,78 l/s

DN 125
2% Gefälle
∑ DU = 80,6
Qww = 4,49 l/s
Qp = 3,00 l/s
Qtot = 7,49 l/s

Rückstauschleife

Schmutzwasser
Kontrollschacht S1

Mischwasser
Übergabeschacht DN1000

S=137,50

S=138,20
DN150
4% Gefälle
MW = 8,78 l/s

DN75DN75
DN75

DN75 DN50 DN75 DN50
DN50DN90 DN90DN50 DN50 DN90 DN50 DN50 DN50 DN90 DN75 DN50DN75

DN50 DN50DN90DN50 DN50 DN75DN90 DN50 DN75DN50 DN90

DN50DN50 DN90 DN50DN90

DN50 DN50DN90

DN90 DN90

DN90 DN50DN50 DN50

DN50

DN90

DN90

WE 05 WE 06 WE 04 WE 01 WE 02 WE 04 WE 03 WE 03

WE 11 WE 12 WE 10 WE 07 WE 08 WE 10 WE 09 WE 09

WE 16 WE 15 WE 13 WE 14 WE 15

DN50

DN 100
1% Gefälle
∑ DU = 12,6
Qww = 2,00 l/s

DN 100
1% Gefälle
∑ DU =  36,0
Qww = 3,00 l/s

DN 100
1% Gefälle
∑ DU = 9,3
Qww = 2,00 l/s

DN 100
1% Gefälle
∑ DU = 26,7
Qww = 2,58 l/s

DN100

DN100
DN100

DN100 DN100 DN75
DN75 DN75

DN100

DN 100
Gefälle 2%
RW = 1,29 l/s

D
ac

hg
es

ch
os

s
O

be
rg

es
ch

os
s

Er
dg

es
ch

os
s

U
nt

er
ge

sc
ho

ss

Er
dg

es
ch

os
s

U
nt

er
ge

sc
ho

ss

D
ac

hg
es

ch
os

s

O
be

rg
es

ch
os

s

DN 100
1% Gefälle
∑ DU = 14,1
Qww = 2,00 l/s

DN75

DN50

DN50

DN50

RÖ

DN 100
1% Gefälle
∑ DU = 14,1
Qww = 2,00 l/s

DN 100
1% Gefälle
∑ DU = 9,4
Qww = 2,00 l/s

RÖ

SW
10

RÖ
RÖ

Rückstauebene = 141,10 Rückstauebene = 141,10

SW-Hebeanlage 

BA
 D

N
10

0

DN 100
1% Gefälle
∑ DU = 4,50
Qww = 1,50 l/s

DN125

DN 100
1% Gefälle
∑ DU = 23,5
Qww = 2,42 l/s

DN 125
1% Gefälle
∑ DU = 23,5
Qww = 2,42 l/s
Qp = 3,00 l/s
Qtot = 5,42 l/s

DN 125
1% Gefälle
∑ DU = 23,5
Qww = 2,42 l/s
Qp = 3,00 l/s
Qtot = 5,42 l/s

Qp = 3,00 l/s
Druck Ltg. DN40

R
Ö

R
Ö

± 0,00m = +141,43
OK FFB EG 

-2,90m = +138,53
OK FFB UG 
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